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QUESTION 1

Refer to the exhibit. 

An engineer is designing the traffic flow for AS 111. Traffic from AS 111 should be preferred via AS 100 for all external
routes. A method must be used that only affects AS 111. Which BGP attributes are best suited to control outbound
traffic? 

A. community 

B. MED 

C. local preference 

D. As path 

Correct Answer: C 

 

QUESTION 2

Which two statements explain the operation of BFD asynchronous mode? (Choose two ) 
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A. BFD asynchronous mode with echo packets combines the control packets and echo packets into a single packet. 

B. BFD asynchronous mode without echo packets uses control packets, and BFD asynchronous mode with echo
packets does not. 

C. BFD asynchronous mode with and without echo packets use control packets. 

D. BFD asynchronous without echo packets has control packets sent back to the originating router, which echoes the
control packet to detect failures. 

E. BFD asynchronous mode with echo packets uses separate control packets and echo packets. 

Correct Answer: CE 

 

 

QUESTION 3

Refer to the exhibit. 

Your company designed a network to allow server VLANs to span all access switches in a data center In the design,
Layer 3 VLAN interfaces and HSRP are configured on the aggregation switches Which two features improve STP
stability within the network design? (Choose two.) 

A. BPDU guard on access ports 

B. BPDU guard on the aggregation switch downlinks toward access switches 

C. root guard on the aggregation switch downlinks toward access switches 

D. root guard on access ports 

E. edge port on access ports 

F. access switch pairs explicitly determined to be root and backup root bridges 
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Correct Answer: AE 

 

QUESTION 4

Refer to the exhibit. 

ACME Mining has four data centers in Santiago. Cape Town. Mumbai, and Beijing, full- mesh connected via a 400 Mb/s
EVP-LAN They want to deploy a new mission-critical application with these requirements: 

1. 

cluster heartbeat 2 Mb/s continuous (250 KB/s) 

2. 

cluster heartbeat one-way maximum latency 100 ms 

These are the current ping tests results between the four data centers: 
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Which hosting data center pair can host the new application? 

A. Mumbai and Beijing 

B. Santiago and Cape Town 

C. Santiago and Mumbai 

D. Cape Town and Mumbai 

E. Cape Town and Beijing 

F. Santiago and Beijing 

Correct Answer: D 

 

 

QUESTION 5

An existing wireless network was designed to support data traffic only. You must now install context Aware services for
location tracking changes must be applied to the existing wireless network to increase the location accuracy? (Chose
two) 

A. Add access points along the perimeter of the coverage area. 

B. Increase the access point density to create an average inter-access point distance of less than 40 feet or 12.2
meters 

C. Use directional antennas to provide more cell overlapping 

D. Install additional access points in monitor mode where the co-channel interference would otherwise be affected 

E. Fine tune the radio configuration of the access point to have a higher average transmission power to achieve better
coverage 

Correct Answer: BE 
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